x107°

< o cot(y) >

........................

<d @> (rad)
o
=
a1

.................................

........................

|
o
(%)

-2 -1 0 1 2 3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

[V AR LA LA AR

(k=]

—=— DQM_CKF_TTbase
—— DQM_CKF_TT_retrainOldFiles125_v2_prelimWPM_epoch4
E il 5 5 5 5 E 10O 5 5 5 5
= 80 J i i = 80 i J ; i
A F : : : A F : : : : :
2 60 i § § 3 60F TN 1 i §
g E b f 1 f o E f f : f f
v 40 il i i q v 40 i L aiRas i i
20F- | B e 20 (-t R TH- A R R
-20F - : -20F 4|t 10T
-a0f- ] ~aof- Il T EEHIRS:
~60F- |1t i ~60F- : ;
-80F —-80F1{1{-l#
o—lQOE"'I""I"m'l""l""i"" o_lOQE|||||||||i||||i||||i||||i|||
g F : T 3E IR R Rt I
o il bl i o o . : : :
F 1 2 WA T R Y O
S N S £ LTI RT it
B2 1 0 T2 3 g

-1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

<0 / > (Y
PP, > (Y0)
O = N W N O

Ratio
N

23T =2 -1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


